AWESOME ARITHMETIC!

Use your arithmetic, written methods and problem solving skills to answer
all of the questions. Make sure you turn over!

£9.23 + £12.97 = 78 + 100 =
5 8 £20 - £18.19 =
—_— — e
12 12
£8.34 x 10 = Round 982.4 to the nearest

whole number

Find the difference between 321 x5 =
- 32and 5

Now turn over for your problem solving and reasoning questions...



These are the opening times at Black Tower Castle.

Monday

Closed

Tuesday to Friday

11am to 6:30pm

Saturday

10am to Gpm

Sunday

10:30am to 4:30pm

How many hours is the casile open on Safurdays?

hours
1 mark
Aliie arrived at the castle at Spm on a Thursday.
How leng could he stay before closing time?
1 mark
Thiz graph shows the age of players at a football club.
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How many players are aged 30 or younger?
1 mmark

A player aged 36 and a player aged 39 join the club.

Add this information fo the graph above.

1 mmark



